A57 (H) Simultaneous Equations - Circles and Straight Lines
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17 Find the exact coordinates of the two intersections of the line y = 2x and the circle x° + y2 = 30.
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17 Find the exact coordinates of the two intersections of the line y = 2x and the circle x* + 2 = 30.
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20 Solve algebraically the simultaneous equations
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(Total for Question 20 is 5 marks)




20 Solve algebraically the simultaneous equations
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20 Solve algebraically the simultaneous equations
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19 Solve algebraically the simultaneous equations
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19 Solve algebraically the simultaneous equations
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27 Theline y=3x+p and the circle K+ _1‘2 =53 intersect at points A and B.

p is a positive integer.

27 (a) Show that the x-coordinates of points A and B satisfy the equation

10x% + Bpx + p* =53 =0
Ab57 [3 marks]



27 (b)  The coordinates of A are (2, 7) Melenicreated bpiviniel]

A57 Work out the coordinates of B.
You must show your working.
[5 marks]
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27 Theline y=3x+p and the circle P+ _1‘2 =53 intersect at points A and B.

p is a positive integer.

27 (a) Show that the x-coordinates of points A and B satisfy the equation

102 + 6px + p* =53 =0
Ab57 [3 marks]
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27 (b) The coordinates of A are (}%,\Z)/ % - Y
A57 Work out the coordinates of B.
You must show your working. }/“ +¢ j - SE
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